
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

Calcul le modes d’oscillations : 

Quand {
𝜔 = 𝜔1 ⇒ 𝐴11 = 𝐴21, 𝐴11 = 𝐴21𝑒𝑡 𝑥1 = 𝑥2

𝜔 = 𝜔2  ⇒ 𝐴12 = −𝐴22, 𝐴12 = −𝐴22𝑒𝑡 𝑥1 = −𝑥2
 

La solution : 

{
𝑥1(𝑡) = 𝐴11 cos(𝜔1𝑡 + 𝜑1) + 𝐴12 cos(𝜔2𝑡 + 𝜑2) 

𝑥2(𝑡) = 𝐴11 cos(𝜔1𝑡 + 𝜑1) − 𝐴12 cos(𝜔2𝑡 + 𝜑2)
 

Les conditions initiales 

𝑥1(0) = 𝑥0 ⇒ 𝐴11𝑐𝑜𝑠𝜑1 + 𝐴12𝑐𝑜𝑠𝜑2 = 𝑥0  

                          𝑥2(0) = 0 ⇒ 𝐴11𝑐𝑜𝑠𝜑1 − 𝐴12𝑐𝑜𝑠𝜑2 = 0  

𝑥1̇(𝑡) = −𝐴11𝜔1 sin(𝜔1𝑡 + 𝜑1) − 𝐴12𝜔2 sin(𝜔2𝑡 + 𝜑2) 

𝑥1̇(0) = 0 ⇒ −𝐴11𝜔1 sin 𝜑1 − 𝐴12𝜔2 sin 𝜑2 = 0  

𝑥2̇(𝑡) = −𝐴11𝜔1 sin(𝜔1𝑡 + 𝜑1) + 𝐴12𝜔2 sin(𝜔2𝑡 + 𝜑2) 

 𝑥2̇(0) = 0 ⇒ −𝐴11𝜔1 sin 𝜑1 + 𝐴12𝜔2 sin 𝜑2 = 0 

⇒ {

𝐴11𝑐𝑜𝑠𝜑1 + 𝐴12𝑐𝑜𝑠𝜑2 = 𝑥0             (1)
𝐴11𝑐𝑜𝑠𝜑1 − 𝐴12𝑐𝑜𝑠𝜑2 = 0               (2)
−𝐴11𝜔1 sin 𝜑1 − 𝐴12𝜔2 sin 𝜑2 = 0 (3)
−𝐴11𝜔1 sin 𝜑1 + 𝐴12𝜔2 sin 𝜑2 = 0 (4)

 

 (2) + (4) ⇒  sin 𝜑1 = 0 ⇒ 𝜑1 = 𝑘𝜋 

   



  

⇒ {
(1) ⇒ 𝐴11 + 𝐴12 = 𝑥0

(2) ⇒ 𝐴11 − 𝐴12 = 0 
 ⇒ {

𝐴11 =
𝑥0

2

𝐴12 =
𝑥0

2

  ⇒ {
𝑥1(𝑡) =

𝑥0

2
⌊𝑐𝑜𝑠𝜔1𝑡 + 𝑐𝑜𝑠𝜔2𝑡⌋

𝑥1(𝑡) =
𝑥0

2
⌊𝑐𝑜𝑠𝜔1𝑡 − 𝑐𝑜𝑠𝜔2𝑡⌋

   ⇒

{
𝑥1(𝑡) = 𝑥0 𝑐𝑜𝑠 (

𝜔2−𝜔1

2
𝑡)  cos (

𝜔2+𝜔1

2
𝑡)

𝑥2(𝑡) = 𝑥0 𝑠𝑖𝑛 (
𝜔2−𝜔1

2
𝑡)  sin (

𝜔2+𝜔1

2
𝑡)

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


